## **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MIDDLE SCHOOL INTRAMURAL ACTIVITIES FOR THE 2022-23 SCHOOL YEAR ONLY, \$33.88 PER HOUR (22-23): (10-1500-xxxx-1341-000-0)

<u>Lincoln Magnet</u> Marsaglia, Brianne Sowinski, Kristen Standley, Emily Theilen, Lori

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING MAY 17, 2023, \$33.88 PER HOUR, 2.25 HOURS FOR A TOTAL OF \$76.23 EACH: (10-2210-0000-1341-531-3)

Moore, Lori

Punke, Lindsay

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING MAY 3, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-531-3)

Baldin, Jennifer	1.25 hours	\$42.35
Brillhart, Sarah	1.25 hours	42.35
Moore, Lori	0.75 hours	25.41
Punke, Lindsay	1.25 hours	42.35

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING MAY 9, 2023, \$33.88 PER HOUR, 2.75 HOURS FOR A TOTAL OF \$93.17 EACH: (10-2210-0000-1341-531-3)

Moore, Lori

Punke, Lindsay

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING MAY 2, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-531-3)

Kahl, Lindsay

Peterman, Sarah

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING MAY 5, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-531-3)

Baldin, Jennifer

Brillhart, Sarah

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL BACKWARDS PLANNING MAY 3, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-531-3)

Boarman, Claire1.00 hours\$33.88Horstman, Laura2.00 hours67.76Scott, Tyra2.00 hours67.76

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BBSS PLANNING MAY 17, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88: (10-2210-0000-1341-531-3)

Spears, Heidi

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL PHONICS PLANNING MAY 24, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-531-3)

Borders, Ashley

Whitlock, Katherine

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL PHONICS PLANNING MAY 17, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-531-3)

Austin, Monique

Whitlock, Katherine

Borders, Ashley

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING MAY 11, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-531-3)

Rotherham, Pam

Schukai, Melissa

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID ELEMENTARY LEADS MAY 18, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-564-3)

Buxton, Amanda Logsdon, Alicia
Greig, Anne Midiri, Stefanie
Harris, Nicolette Netznik, Melissa
House, Elizabeth Walker, Amy

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING MAY 2, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-531-3)

Deaton, Jacqueline

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING MAY 3, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-531-3)

Austin, Monique

Borders, Ashley

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING MAY 9, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-531-3)

Deaton, Jacqueline 1.00 hours \$33.88 Whitlock, Katherine 2.00 hours 67.76

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING MAY 3, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-531-3)

Deaton, Jacqueline

Whitlock, Katherine

Rotherham, Pam

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BACKWARDS PLANNING MAY 10, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88: (10-2210-0000-1341-531-3)

Deaton, Jacqueline

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION GRADE 1 ASSESSMENT PROFESSIONAL DEVELOPMENT APRIL 24, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Austin, Monique Barham, Ashley Campbell, Melissa Harness, Amanda Jurgens, Mary Londrigan, Amanda Totura, Jessica XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL BBSS ACTIVITIES JANUARY 2 THROUGH MARCH 30, 2023, \$33.88 PER HOUR, 65.5 HOURS FOR A TOTAL OF \$2,219.14: (10-2210-0000-1341-531-3)

Miller, Claire

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL BACKWARDS PLANNING MAY 3, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-531-3)

Frost, Madison

Spencer, Horazina

Graham, Brianna

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL FINE ARTS PROFESSIONAL DEVELOPMENT APRIL 20, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-4331-1341-534-3)

Grendze, Carmen

Vargas, Jennifer

Jurgens, Kristen

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL ILT PLANNING MAY 23, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-4331-1341-534-3)

Fisher, Carl Grendze, Carmen Hunsley-Hunt, Stephanie Sammons, Amber

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL FINE ARTS PROFESSIONAL DEVELOPMENT APRIL 27, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-4331-1341-534-3)

Grendze, Carmen

Wilson, Anthony

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL ILT ACTIVITIES APRIL 18, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-4331-1341-534-3)

Allen, Devynn Goldstein, Andrew Hunsley-Hunt, Stephanie

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL BBSS ACTIVITIES MAY 2, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-4331-1341-534-3)

Allen, Devynn Jackson, Terrelle
Beckman, Christine Pochynok, Kelli
Cookson, Lelah Stubblefield, Brandy
Deal, Tracy Winders, Scott

Grendze, Carmen

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL PATTERNS OF POWER PROFESSIONAL DEVELOPMENT MAY 4, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Chamberlain, Cole Edwards, Dana Eaton, Deborah Jackson, Terrelle

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL BACKWARDS PLANNING MAY 15, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76: (10-2210-0000-1341-531-3)

Shures, Elizabeth

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL BACKWARDS PLANNING MAY 10, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88: (10-2210-0000-1341-531-3)

Jones, Taylor

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL PATTERNS OF POWER PROFESSIONAL DEVELOPMENT APRIL 25, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Beckler, Melissa Pate, Emily Crow, Cynthia Sanders, Angela Daniels, Sherry Schatz, Katie Schnake, Christine Fleming, Susan Freeman, Tina Stearns, Katherine Larson, Stacey Strauch, Allyson Martin, Colleen Thomas, Brandy Mccarthy, Caitlin Traw, Molly

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES 2022-2023 APRIL MEDICAID BILLING ACTIVITIES APRIL 3 THROUGH MAY 8, 2023, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Boggs, Lindsay	5.00 hours	\$63.74 Per Hour	\$318.70
Brinkmann, Kristen	5.00 hours	\$57.85 Per Hour	289.25
Brown, Mary	1.00 hours	\$71.13 Per Hour	71.13
Clark, Abigail	5.00 hours	\$49.78 Per Hour	248.90
Clark, Michelle	3.00 hours	\$72.15 Per Hour	216.45
Corley, Elizabeth	3.25 hours	\$61.89 Per Hour	201.14
Deatherage, Debra	5.00 hours	\$62.14 Per Hour	310.70
Dunn, Cara	3.00 hours	\$48.44 Per Hour	145.32
Farley, Nicole	5.00 hours	\$48.44 Per Hour	242.20
Febus, Ashley	2.50 hours	\$61.89 Per Hour	154.73
Fenstermacher, Lori	5.00 hours	\$72.15 Per Hour	360.75
Giacomini-Fay, Lisa	5.00 hours	\$69.10 Per Hour	345.50
Groesch, Erica	2.75 hours	\$71.13 Per Hour	195.61
Gruenenfelder, Tara	4.00 hours	\$67.07 Per Hour	268.28
Hummel, Emily	5.00 hours	\$61.89 Per Hour	309.45
Judy, Kathryn	3.50 hours	\$39.02 Per Hour	136.57
Kaufmann, Sarah	3.50 hours	\$57.85 Per Hour	202.48
Kim, Whitney	4.50 hours	\$72.15 Per Hour	324.68
Marcum, Stacie	3.25 hours	\$53.83 Per Hour	174.95
Mcdaniel-Norton, Stacey	5.00 hours	\$71.13 Per Hour	355.65
Naumovich, Amanda	5.00 hours	\$63.74 Per Hour	318.70
Ohl, Stephanie	3.00 hours	\$48.44 Per Hour	145.32
Rehn, Megan	2.00 hours	\$40.36 Per Hour	80.72
Reitz, Laura	4.75 hours	\$60.54 Per Hour	287.57
Rouland, Jill	3.50 hours	\$59.19 Per Hour	207.17
Sapetti, Camryn	2.50 hours	\$39.02 Per Hour	97.55
Upchurch, Taylor	4.50 hours	\$53.84 Per Hour	242.28
Vice, Morgan	4.00 hours	\$40.36 Per Hour	161.44

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES 2022-2023 MARCH MEDICAID BILLING ACTIVITIES APRIL 28, 2023, \$72.15 PER HOUR, 5 HOURS FOR A TOTAL OF \$360.75: (10-2210-6220-1342-000-0)

Fenstermacher, Lori

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES APRIL 20 THROUGH MAY 18, 2023, \$32.26 PER HOUR, 9.75 HOURS FOR A TOTAL OF \$314.54: (10-3700-0000-1243-531-3)

Schrenk, Nancy

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES MAY 17 THROUGH MAY 18, 2023, \$32.26 PER HOUR, 4.5 HOURS FOR A TOTAL OF \$145.17: (10-3700-0000-1243-531-3)

Lamsargis, Kathy

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES MAY 2 THROUGH MAY 10, 2023, \$32.26 PER HOUR, 32 HOURS FOR A TOTAL OF \$1,032.32: (10-3700-0000-1243-531-3)

Lamsargis, Kathy

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL MATH DEPARTMENT CHAIR MEETING MAY 22, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Adkins, David Horstman, Laura
Borah, Jill Webster, Stephanie
Bradley, Rechad Womble, Ashley

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION PROFESSIONAL GROWTH SYSTEMS MEETING MAY 17, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-564-3)

Aladesuyi, Adetoro Jordan, Laura

Craner, Serena Mckinney, Benjamin

Daley, Melinda Minch, Amy
Harris, Nicolette Rennison, Laura
Hunsley-Hunt, Stephanie Rockwell, Jennifer

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID QUARTERLY MEETING MAY 2, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82: (10-2210-0000-1341-564-3)

Mclaughlin, Stacey

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION BUILDING THINKING CLASSROOMS BOOK STUDY MAY 17, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-564-3)

1.50 hours	\$50.82
1.50 hours	50.82
1.00 hours	33.88
1.00 hours	33.88
1.00 hours	33.88
1.50 hours	50.82
	1.50 hours 1.00 hours 1.00 hours 1.00 hours

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MATH LEADERS BUILDING THINKING CLASSROOMS BOOK STUDY OCTOBER 1 THROUGH MAY 17, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-564-3)

Armstrong, Dawn	1.50 hours	\$50.82
Baldin, Jennifer	1.00 hours	33.88
Bremer, Traci	1.00 hours	33.88
Burke, Evan	1.00 hours	33.88
Covey, Heather	1.00 hours	33.88
Cox, Heather	1.00 hours	33.88
Dabbs, Kathryn	0.50 hours	16.94
Davis, Holly	1.50 hours	50.82
Edwards, Joshua	0.50 hours	16.94
George, Cynthia	1.50 hours	50.82
Graham, Brianna	0.50 hours	16.94
Hubbs, Sally	2.00 hours	67.76
Jackson, Sabrina	2.00 hours	67.76
Kaitschuk, Angela	1.00 hours	33.88

## Thinking Classrooms Book Study October 1 Through May 17, 2023, \$33.88 Per Hour, cont.

Kent, Jena	1.00 hours	33.88
Lafountain, Taunja	1.00 hours	33.88
Love, Brenna	1.50 hours	50.82
Mcdowell, Toni	0.50 hours	16.94
Nolting, Jenny	1.00 hours	33.88
Parkinson, Vanessa	0.50 hours	16.94
Perry, Whitney	0.50 hours	16.94
Pettis, Jessica	1.00 hours	33.88
Poss, Nichole	0.50 hours	16.94
Rake-Davis, Christine	2.00 hours	67.76
Tarvin, Kandace	1.00 hours	33.88
Tennant, Mary	0.50 hours	16.94
Thompson, Jessica	1.50 hours	50.82
Tonstad, Laura	1.50 hours	50.82
Vogel, Carolyn	1.50 hours	50.82

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION BIG IDEAS MATH CURRICULUM ACCELERATED PLANNING MAY 16, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Barnard, Angela Borah, Jill House, Amber

XLI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION INTRO TO TRAUMA TRAINING MAY 3, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-564-3)

Clark, Abigail	1.25 hours	\$42.35
Dockter, Emily	1.25 hours	42.35
Kahl, Lindsay	1.75 hours	59.29
Lacamera, Kathryn	1.25 hours	42.35
Marcum, Stacie	1.25 hours	42.35
Mclaughlin, Stacey	1.25 hours	42.35
Novy, Karrie	1.25 hours	42.35
Purdy, Patricia	1.25 hours	42.35
Rahman, Asima	1.25 hours	42.35
Swierkosz, Beth	2.00 hours	67.76

XLII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL ENGLISH DEPARTMENT CHAIR PROFESSIONAL DEVELOPMENT MAY 8, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Burgar, Nikki Martin, Colleen Crow, Cynthia Schatz, Katie

Gibbs, Katie

XLIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL ILT ACTIVITIES MAY 3, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-4331-1341-534-3)

Beckman, Christine Hunsley-Hunt, Stephanie

Goldstein, Andrew Mcnichols, Moira Grendze, Carmen Sammons, Amber

XLIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION TRANSITIONAL ENGLISH CURRICULUM PROFESSIONAL DEVELOPMENT MAY 2, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-564-3)

Eaton, Deborah Poe, Sarah

Edwards, Dana

XLV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION GRADE 9 ENGLISH CURRICULUM PROFESSIONAL DEVELOPMENT MAY 1, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76: (10-2210-0000-1341-564-3)

Eaton, Deborah

XLVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL SOCIAL STUDIES PROFESSIONAL DEVELOPMENT APRIL 27, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-564-3)

Dickman, Barbara Yoho, Brock

Volpert, Andrew

XLVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION EARLY LEARNING CENTER MENTORING HOURS APRIL 14 THROUGH APRIL 28, 2023, \$50.00 PER HOUR, 3.5 HOURS FOR A TOTAL OF \$175.00: (10-2410-3900-1131-000-0)

Baker, Leuwania

XLVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION GRADE 11 ENGLISH CURRICULUM PROFESSIONAL DEVELOPMENT APRIL 26, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-564-3)

Eaton, Deborah

Emery, Erin

XLIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AFRICAN AMERICAN HISTORY TASK FORCE FEBRUARY 7, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-564-3)

Hoffman, Julie

West, Erica

Rhodes, Lindsey

L RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SANDBURG KINDERGARTEN BACKWARDS PLANNING MARCH 8, 2023, \$33.88 PER HOUR, 3 HOURS FOR A TOTAL OF \$101.64 EACH: (10-2210-0000-1341-564-3)

Guikema, Lindsay

Suerdieck, Cristina

Martin, Elizabeth

LI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CO-TEACH BOOK STUDY JANUARY 17 THROUGH FEBRUARY 28, 2023, \$33.88 PER HOUR, 6 HOURS FOR A TOTAL OF \$203.28 EACH: (10-2210-0000-1341-564-3)

Barham, Ashley

Benoit, Claire

Davis, Robin

Dockter, Emily

Dunn, Christine

Holler, Melinda

Kent, Jena

Love, Brenna

Mclaughlin, Stacey

Norton, Heather

St. Aubin, Katrina

Woodside, Alexis

Joyner, Abbie

LII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID SECONDARY COLLABORATION MAY 10, 2023, \$33.88 PER HOUR, .5 HOURS FOR A TOTAL OF \$16.94 EACH: (10-2210-0000-1341-564-3)

Freeman, Tina Mitts, Jodi
Holcomb, Beth Moskus, Aliyah
Jimerson, Angela Pochynok, Jason
Kyes, Jessieca Wallner, Jennifer

LIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION UFLI FOUNDATION MEETING MARCH 15, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-564-3)

Cathers, Leanne Jordan, Laura Jones, Talamia Lipka, Carrie

LIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ADDAMS APTT ACTIVITIES FEBRUARY 7 THROUGH MAY 15, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-564-3)

Casson, Meghan	2.00 hours	\$67.76
Gilbert, Rachel	4.00 hours	135.52
Harris, Sherry	8.00 hours	271.04
Kother, Amanda	2.00 hours	67.76
Maggiore, Michelle	2.00 hours	67.76
Steinwart, June	2.00 hours	67.76
Stillwagon, Sarah	2.00 hours	67.76
Upchurch, Taylor	2.00 hours	67.76
Wind, Elin	2.00 hours	67.76
Wingo-Martin, Staci	1.75 hours	59.29

LV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SAVVAS HIGH SCHOOL MATH CURRICULUM TRAINING MAY 10, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Coe, Jessica Midiri, Frank

Gardner, Andrew Mitchell, Elizabeth

Gleave, Karoline Myers, Erin Goff, Melissa Slater, Toni

Gordon, Tracy Urbanek, Elizabeth Kinder, Scott Wieneke, Monica

Lin, Christine

LVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID LEADS AND COORDINATORS EXTRA HOURS AUGUST 16, 2022 THROUGH FEBRUARY 28, 2023, \$33.88 PER HOUR, 15 HOURS FOR A TOTAL OF \$508.20: (10-2210-0000-1341-564-3)

LVII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES 2022-2023 APRIL MEDICAID BILLING ACTIVITIES APRIL 11 THROUGH APRIL 27, 2023, \$39.17 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$58.76: (10-2210-6220-1165-000-0)

Blakley, Jennifer

LVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION LEE PARAPROFESSIONAL TRAINING MAY 17, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-3)

Bostic, Theresa	1.25 hours	\$16.92 Per Hour	\$21.15
Carroll, Jeremy	1.25 hours	\$21.21 Per Hour	26.51
Florence, Patty	1.25 hours	\$19.11 Per Hour	23.89
Heimberger, Lynn	1.25 hours	\$22.51 Per Hour	28.14
Hendricks, Vanessa	1.25 hours	\$19.11 Per Hour	23.89
Herrin, Glenda	1.25 hours	\$16.92 Per Hour	21.15
Joiner, Valancia	1.25 hours	\$17.72 Per Hour	22.15
Miller, Victoria	1.25 hours	\$16.92 Per Hour	21.15
Stillwagon, Kyle	1.25 hours	\$18.81 Per Hour	23.51

LIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION BUILDING THINKING CLASSROOMS BOOK STUDY MAY 17, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82: (10-2210-0000-1341-564-3)

Hovey, Robyn

LX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START PORTFOLIO HOURS APRIL 28 THROUGH MAY 25, 2023, \$33.88 PER HOUR, 4 HOURS FOR A TOTAL OF \$135.52 EACH: (10-2210-6431-1341-481-3)

Ahiable, Esene Hunter, Rachel Justison, Mildred Becker, Brooke Blauvelt, Jenna Loken, Susan Burk, Jennifer Mahinda, Stacy Crumbaugh, Lisa Marvel, Andrea Duffy, Debora Servough, Carrie Fields, Rachael Simmons, Sara Fuhrmann, Mary Smith, Janette Gallina, Maria Ziccarelli, Andrea Gray, Nicole

LXI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION INTRO TO TRAUMA TRAINING MAY 3, 2023, \$18.18 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$31.82: (10-2210-0000-1341-564-3)

Farah, Janice

LXII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION ADDAMS APTT ACTIVITIES FEBRUARY 14, 2023, \$23.52 PER HOUR, .5 HOURS FOR A TOTAL OF \$11.76 EACH: (10-2210-0000-1341-564-3)

Brinkley, Rita

LXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START PORTFOLIO HOURS MAY 27, 2023, \$33.88 PER HOUR, 4 HOURS FOR A TOTAL OF \$135.52: (10-2210-6431-1341-481-3)

Lacamera, Kathryn

LXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FOCUSED SCHOOLS ILT MINISERIES PROFESSIONAL DEVELOPMENT FEBRUARY 22 THROUGH APRIL 5, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-564-3)

Benoit, Claire	1.00 hours	\$33.88
Broussard, Karveta	1.00 hours	33.88
Brown, Michelle	2.00 hours	67.76
Campbell, Melissa	1.00 hours	33.88
Capps, Gail	1.00 hours	33.88
Crum, Milena	2.00 hours	67.76
Crumrine, Carrie	2.00 hours	67.76
Drennan, Emily	1.00 hours	33.88
George, Cynthia	1.00 hours	33.88
Grieme, Nathan	1.00 hours	33.88
Hardy, Angela	1.00 hours	33.88
Harris, Nicolette	3.00 hours	101.64
Harris, Sherry	1.00 hours	33.88
Hoffman, Julie	1.00 hours	33.88
Hood, Heidi	1.00 hours	33.88
Hubbs, Sally	1.00 hours	33.88
Jurgens, Mary	1.00 hours	33.88
Maggiore, Michelle	1.00 hours	33.88

## Focused Schools ILT Mini-Series February 22 Through April 5, 2023, \$33.88 Per Hour, cont.

Mccarthy, Caitlin	2.00 hours	67.76
Mclaughlin, Stacey	2.00 hours	67.76
Midiri, Stefanie	1.00 hours	33.88
Perry, Whitney	1.00 hours	33.88
Poppenhouse, Leslie	1.00 hours	33.88
Riech, Allison	1.00 hours	33.88
Tennant, Mary	1.00 hours	33.88
Vespa, Darci	2.00 hours	67.76
Williams, Kauntessa	1.00 hours	33.88